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  תשובות
  U3=6v. ד   I2=1A   . ג     E=30v. ב     ΩRt=10. א.    1

  ΩR5=18. ג   VAB=-0.67v. ב   ΩR1=4.67. א.    2

  R3=3Ω. ב      V2=4v.א.     3

 ΩRt=0.8. ד   It=6A. ג   I3=1.6A  I1=I2=2.4A. ב   E=4.8v. א.    4

  I=3A. ב    P1=64w. 2א     E2=120V. 1א.    5

  יגדל. ג  VR=4v.ב     I=0.5A. א   . 6

  מעגל ב RT=30Ω      מעגל א RT=15Ω.א  .  7

  IT=2A                        IT=1A 

PT=60W                           PT=30W 

 A -ל B-מ. ג V2=5v. ב   IT=0.5A. א  . 8

 V3=2.67v. ג   I2=1.33A. ב     RT=10Ω .א    .9

 V4=2v. ג     IT=1A. ב   RT=5Ω. א . 10

  R1=5.2Ω       12 .P1=5.2W. א.  11

  תקטן. ד  IT=2A. ג   I2=1A. ב   I1=1A. א. 12

 IT=1.995A. ב    R1=2.03Ω. א. 13

 W=0.64KWh=2.304Mj. ב     IT=6.67A. א .14

 V3=10v. ד    I3=1A. ג   IT=2A. ב    RT=15Ω. א. 15

 P3=1W. ג  V2=1v. ב     I=0.5A. א. 16

 W=3KWh=10.8Mj. ד    I=15A. ג  R1=20Ω   R2=10Ω . ב     I1=5A   I2=10A. א. 17

 P1=300w. ג   I1=5A  I2=1.67A   I3=3.33A. ב   RT=16Ω. א. 18

  U=204v. כל מוליך  ג  0.2. ב    R=20 Ω  I=10A. א. 19

 P8=10w. ד   E=62.5v.ג  I9=2.5A. ב   RT=25Ω. א. 20

 VCB=50v. ג   R1=28 Ω   IT=7.5A .ב   VAB=70v. א. 21

  יגדל. ג  E=100v .ב R4=40  R3=25Ω  R2=15Ω  R1=5Ω   . א. 22

 L=53.85m. ג    R=14Ω. ב   R=24.2Ω. א. 23

 R5=2Ω   .ב   R1=1/3Ω. א.  24

   R1=14.4KΩ   R2=1.43KΩ  R3=5.73KΩ  R4=3.2KΩ.ב   I1=0.833m  I2=I3=1.67mA. א. 25

  יגדל  P4,    יקטנו  P1  ,P2 ,P3. ג       

 P1=54mw. ג   VAB=3v. ב     R2=2KΩ. א. 26

 I=1.886A. ג    R=12.72Ω. ב    L=12m. א.  27

   VAC=18v    VAB=0. ג      I4=3A. ב      RT=6Ω  .א.   28

 R=11.6Ω. ד    Kw.1.1. ג    R=22Ω. ב  3דרגה . א. 29

 P4=11.25w. ג   E=21v. ב     RT=8.014Ω. א.  30

 VBD=-18.75v. ב   R5=28Ω    IT=3A P1=36w. א.  31

 לא נכון. לא נכון  ד. לא נכון   ג. נכון   ב. א.   32


